Modity function




In definition3 only use one segment

def d_curve(seamnent, trajiectory): #ssgmeni is array have points

In [19]:

d_v = []
d_p = []
for i in trajectory:

d_v.appendinp.minids. distance_| ine_point (seannent . 1)) #o:s

for j in seamnent :
d_p.appendinp.min(ds. distance_l ine_point(traiectory, 111 £

max_d_p = np.max(d_p)

Thi=s step processed in definitiond but aive same result with oL
it calculates max dip.t)

d_curve = max(max<(d_v,d_p)) #maxialv, &), max odip, 1)}
return d_curve



After

Insert index parameter

In [1]: def d _curve(trajectory,lill segment):
dp =[]

d v = ds.distance_|ine_pointi{segment, trajectory[i])

for k in segment:
d p.append{ds.distance_line point{trajectory, k))

max_d_p = np.max{d_p)
d curve = np.max d v, max_d p)

return d _curwve

Use max function only one time.



decurve = mdeng —|——'—|'O|-|:|'.

—— Trajectory

* Segment In [70]: dl = ds.d_curvelt,0,s)
d? = ds.d_curve(t,1,s)
d3 = ds.d_curvelt,?, s)
d4 = ds.d_curvelt, 3, s)

dl, dZ, d3, o

Out (700 (3, 4930647863931 323,
3, 493064 7863331343,
3. 493064 7803531 323,
3. 4330647863331 323)




10 A

In [14E]:

Cut [146] :

5]
z)

dl = ds. d_curvelt, [,
t.1,
t,2,5]
t,3, s

(
d2 = ds.d_curvel
dad = ds.d_curvel
dd = d=. d_curvel

dl, d2, d3, dd
(5. 000138276758201, B, 000138276758201, 5. 000138276758201, 5. 000138276758201

—&— Trajectory
—&— Segment




Max dp < dv

deurve = index2| 40| [CF2f HIFOCT

In [160] :

Out [160] :

dl = ds.d_curvelt,l,s)
d? = ds.d_curvelt,1,s)
dd = ds.d_curvelt,?, s)

dl, d, da

(3.0, 4.949747468305833, 3.0)



In [171]: ol = ds.d_curvel(t,O,s)
d2 = ds.d_curvelt,1,s)
d3 = ds.d_curve(t,?,s)
dd = ds.d_curvelt, 3, s)

dl, dZ2, d3. dd
Out L1711+ (2.946015045183419, 3. 2806707522554127 . 2,946015045189419, 2, 946015045189419)

—&— Trajectory
—&— Segment




To do




Make
candidate
set

'|st

Removing segment
do not require
calculations by
distance

(nodes must be
with In T000meters
of point.)

2nd

Make candidate by
comparison with
dmax and dcurve

(candidate’s dcurve
must smaller than
dmax)



